
Maths:  Feeling Happy!

Section 1 –

1. 235,086
128,245 + 
363,331

2. Continue the pattern:
13,745   13,845    13,945   14,045   
14,145   14,245

3. Put these numbers in descending 
order:

8      4      0    -1       -5       -6

4.  11 = 110 ÷ 10

5. Round 246,193 to the nearest 10, 
100,  1000 and 10,000 = 

246,190   246,200   246,000  250,000

6. The temperature is -5oC.  It rises by 
6oC.  What is the new temperature? 

1oC

Section 2 – You must show your 
working out for each calculation.

1. 7093 – 5274 = 1,819

2. 95,036 – 47,214 = 47,822

3. 816,503 – 487,232 = 329,271

Check each of your calculations in 1, 2 
and 3 with the inverse (addition).

==============
Example:   602,893 – 371,775 = 

Inverse to check:

6 0 2,8 9 3           2 3 1, 1 1 8
3 7 1,7 7 5 - 3 7 1,7 7 5 +
2 3 1,1 1  8 6 0 2,8 9 3

5 81 1

11


